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	Topics :
	Sets and Hashtables

	NAME (printed):
	


	QUESTION
	SC

	A SET is a datastructure especially useful for

· Fast retrieval in  time < O(n)

· fast ( = O(1)) indexed random access

· sorting, getting an order of magnitude O(n)

· storing massive amount of data in a memory efficient way
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	Consider the following set of doubles:

S = {3.141, 3.6, 1.111, 2.765, 0.34, 70.34, 24.067}

Given a hashfunction h: S-> N (=the integers):  h(s)=round(s) 

and a 7 element array A, where would the elements of S be placed in A, assuming they are added to A in the order given above (i.e. starting with 3.141) ?
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How many collisions occured during the insertion  of 24.067 ?
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	Assume a set S given. Does it matter in which order the elements are added to a hashtable, i.e. is it possible that a different order of adding elements will lead to different hashtables ?  Give an example for your answer !
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	Consider the following set S of integers:

S = {1, 5 11}

Consider  the hashfunction h  given by: h(s)= s.

Which is the MINIMUM size n of the hashtable such that there’s no collision ?
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